### भारतीय भारोत्तोलन संघ Indian Weightlifting Federation

No.: S-4288/21,11.1960

Affiliated to: International Weightlifting Federation, Asian Weightlifting Federation, Commonwealth Weightlifting Federation and Indian Olympic Association Recognised by: Ministry of Youth Affairs & Sports, Govt. of India

President

Sahdev Yadav Mob.: +918130621444

Treasurer Naresh Sharma +919582863333

Secretary General S.H. Anande Gowda Mob.: +919845155101

File No.: IWLF-76-KI-WOMEN LEAGUE

Date: 4 February 2022

Shri Manikant Sharma, Dy. Director - KITD, Khelo India Games Secretariat New Delhi.

Sub.: Proposal for conduct of Khelo India National ranking for Youth (Sub-Junior Women), Junior (Women) and Senior (Women) Weightlifting Tournaments.

Dear Sir,

Please refer to the letter no. KI/SFW/2021-22 dated 9th November 2021.

We are giving a detailed proposal for conducting the Khelo India National ranking for Youth (Sub-Junior Women), Junior (Women) and Senior (Women) Weightlifting Tournaments which will be held in all 3 groups and on quarterly basis in a year making 12 competitions in total.

The concept paper and detailed budget is enclosed for your kind reference.

Looking forward to your kind approval in the matter.

NOIDA

Yours Sincerely,

Sahdev Yada PRESIDENT

Encl. as above,



### Proposal for Khelo India Ranking Women Youth (Sub-Junior, Junior & Senior) Weightlifting Championships-2022-23

#### Background:-

In recent years, sport has demonstrated its enormous capacity to propel women and girls' empowerment. It mobilizes the global community and speaks to youth. It unites across national barriers and cultural differences. It is a powerful tool to convey important messages in a positive and celebratory environment – often to mass audiences. In addition, it teaches women and girls the values of teamwork, self-reliance and resilience; has a multiplier effect on their health, education and leadership development; contributes to self-esteem, builds social connections, and challenges harmful gender norms. With Saikhom Mirabai Chanu winning a Silver medal in Tokyo Olympic Games, the women are keen to contest in weightlifting competitions. Moreover, the first Olympic individual medal also comes in weightlifting which has been won by Karnam Malleswari – Bronze medal.

#### Women empowerment:-

Many actors in the sport ecosystem are making significant strides to advance gender equality. Some organizations are developing their sport at the grassroots level for women and girls; implementing gender equality strategies; creating their safeguarding policies; increasing the participation of women in leadership and at all levels of the profession; increasing resource allocation for women's sports; doing better and more media coverage; marketing free from gender bias and promoting women's achievements.

However, until now, these initiatives have been working in relative isolation, leading to missed opportunities of learning and scaling the best practices. At the same time, in various contexts, the world of sport remains plagued by many of the same gender inequalities.

#### Objective & Vision:-

Consisting of governments, sport for development and peace organizations, civil society, sport federations, event organizers, leagues, teams, brands, marketers, media, and sport influencers, it multiplies impact for gender equality and women and girls' empowerment by enabling learning from one another and accelerating efforts to:

- Promote women's leadership and gender equality in governance models.
- Prevent and respond to gender-based violence.



- Undertake to close the gap in investment in women's sport and promote equal economic opportunities for women and girls.
- Promote women's equal participation and bias free representation in media.
- Provide equal opportunities for girls in sports, physical activity and physical education.

Sports for Generation Equality Initiative members are invited to make specific commitments, aligned under a shared vision, a common set of principles, and design action plans to accomplish them. They also commit to monitor and report progress.

#### Advantage and impact:

By enabling access to opportunities, employment and revenue creation on equal terms for the female athletes. Athletes that reach the highest level of achievement are more likely to have played multiple sports at a young age and delayed single-sport specialization until late adolescence.

The benefits of regularly participating in physical activity, through casual or organized participation seeking to improve fitness, mental well-being and social relationships, are well recognized. The skills generated through more structured sporting activities can also be readily applied to more everyday situations, such as dedication, application and team building

Groups (3):-

 Senior - Age Limit - 15 years and above calculated in athlete's year of birth with present calendar year.

(ii) Junior - Age Limit - 15-20 years calculated in athlete's year of birth with

present calendar year.

(iii) Youth (Sub-Junior) - Age Limit - 13-17 years calculated in athlete's year of birth with present calendar year.

Weight Categories -

Youth Girls – 40 kg, 45 kg, 49 kg, 55 kg, 59 kg, 64 kg, 71 kg, 76 kg, 81 kg and +81 kg Junior Women - 45 kg, 49 kg, 55 kg, 59 kg, 64 kg, 71 kg, 76 kg, 81 kg, 87 kg and +87 kg. Senior Women - 45 kg, 49 kg, 55 kg, 59 kg, 64 kg, 71 kg, 76 kg, 81 kg, 87 kg and +87 kg.

Eligible participants -

Top 15 athletes in each weight category taking from the annual ranking published on the website of Indian Weightlifting Federation for last 3 years, for e.g. if the competition will be held in 2022, ranking list will be applicable for the years 2021, 2020 and 2019 and vacancies if any will be filled through WILD CARDS.



Occurrence – Quarterly basis in a year – a total of 12 competitions will be held across a year (4 in Youth (Sub-Junior Women), 4 in Junior (Women) and 4 in Senior (Women).

<u>Location</u> – Either of the Weightlifting NCOE centres or any other location mutually agreed upon by IWLF and Khelo India.

Duration of competition - 4 days (including the meetings)

Schedule of Tournament -

Youth (Sub-Junior) - will be held separately

Phase I - tentative dates 5-8 April 2022

Phase II - tentative dates 5-8 July 2022

Phase III - tentative dates 5-8 October 2022

Phase IV - tentative dates 5-8 January 2023

Day 1 - Verification of final entries meeting, Technical officials meetings

Day 2 - 40 kg, 45 kg and 49 kg

Day 3 - 55 kg, 59 kg, 64 kg and 71 kg

Day 4 - 76 kg, 81 kg and +81 kg

Junior - will be held separately

Phase I - tentative dates 15-18 April 2022

Phase II - tentative dates 15-18 July 2022

Phase III - tentative dates 15-18 October 2022

Phase IV - tentative dates 15-18 January 2023

Day 1 - Verification of final entries meeting, Technical officials meetings

Day 2 - 45 kg, 49 kg and 55 kg

Day 3 - 59 kg, 64 kg, 71 kg and 76 kg

Day 4 -81 kg, 87 kg and +87 kg

Senior - will be held separately

Phase I - tentative dates 27-30 April 2022

Phase II - tentative dates 27-30 July 2022

Phase III - tentative dates 27-30 October 2022

Phase IV - tentative dates 27-30 January 2023

Day 1 - Verification of final entries meeting, Technical officials meetings

Day 2-45 kg, 49 kg and 55 kg

Day 3 - 59 kg, 64 kg, 71 kg and 76 kg

Day 4-81 kg, 87 kg and +87 kg



Methodology - as per Technical & Competition Rules of International Weightlifting Federation.

Maximum number of athletes -

Upto 150 (15 each in 10 body weight categories) in Youth (Sub-Junior) to be held separately.

Upto 150 (15 each in 10 body weight categories) in Junior to be held separately.

Upto 150 (15 each in 10 body weight categories) in Senior to be held separately.

Equipment - FOP requirements as per Technical & Competition Rules of International Weightlifting Federation (details submitted in the Budget).

Role-

All operational expenses will be borne by Khelo India, SAI for organizing the tournament. All kind of technical support in terms of venue set up, placement of equipments, deputation of technical officials etc. would be finalized by Indian Weightlifting Federation.

Boarding & Lodging of participants -

All participants will make their own boarding & lodging arrangements at their own cost or on the cost of their respective academies / State Sports Department / Khelo India / NCOE schemes under which the weightlifter is getting training.

Technical Officials -

30 technical officials (both International & National) will be appointed by IWLF. Technical officials are entitled to claim TA/DA as per governing rules of IWLF and get free boarding & lodging and local transportation facilities.

Travelling of participants -

All participants make their own travelling arrangements from their respective destinations to competition venue and back. Travelling expenses would be borne by either self or respective academies / state sports departments / Khelo India / NCOE scheme under which the weightlifters is getting training.

Prize Money - in INR

Prize Money – 11 Event	Youth (Sub- Junior)	Junior	Senior	Total
	2520000	5040000	7560000	15120000
	2520000	5040000	7560000	15120000
. <sub>e</sub> 2		5040000	7560000	15120000
- 3	2520000	5040000	7560000	15120000
4	2520000			60480000
Grand Total=	10080000	20160000	30240000	00-100000



# Medals and certificates – 3 medals in each body weight category in total (10 Gold, 10 Silver and 10 Bronze medals)

<u>Budget</u> – Estimated budget for holding Khelo India National ranking Weightlifting competition is attached at <u>Annexure I-A+I-B+1-C.</u>

#### Summary of prize money for Khelo India National Women ranking tournament

Rank	Youth	Junior	Senior	
1	50000	100000	150000	
2	40000	80000	120000	
3	30000	60000	90000	
4	25000	50000	75000	
5	20000	40000	60000	
6	15000	30000	45000	
7	12000	24000	36000	
8	11000	22000	33000	
9	10000	20000	30000	
10	9000	18000	27000	
11	8000	16000	24000	
12	7000	14000	21000	
13	6000	12000	18000	
14	5000	10000	15000	
15	4000	8000	12000	
Total	252000	504000	756000	
x 10 weight categories	2520000	5040000	7560000	15120000
for 4 events in a year	10080000	20160000	30240000	60480000

Sandev Yadav
President
Indian Weightlifting Federation

# Khelo India National Women ranking Tournament - Weightlifting Costing (4 days) - Youth (Sub- Junior Women)

Requirements for running weightlifting competition

	Requirements for running weightlifting				
		Item description		0	Amount
(1)	FOP equipments consisting of following	purchase / rent	Remarks	Qty [	Amount
(i)	Weightlifting Indoor hall rent	Rent		1	
•	Competition Platform (4x4 m) IWF			-	
0	Approved	Rent		1	
	Competition Barbell sets (185 kg) IWF				
i)	Approved	Rent		2	
)	Rosin Tray for stage	Rent	To and fro	1	
257	Magnesium Tray for stage and warm-up	400	transportation	6	
)	room	Rent	of supplier	•	150000
	Warm-up platforms (2.5x2.5m) IWLF	Rent	(bills claim as	8	
)	approved Women Warm-up barbell sets (185 kg)	Kem	per actuals)		
		Rent		8	
i)	IWLF approved Training platforms (2.5x2.5m) IWLF	Kem		0030	
	approved	Rent		6	
ii)	Women training barbell sets (185 kg)	*******		1038	
()	IWLF approved	Rent	1	6	
.,	Weigh-in Scale (upto 200 kg with		1 1		
()	precision of 50 gms)	Rent		3	Copposition
i)	Magnesium powder	Purchase		1.5 kg	2500
i)	Rosin	Purchase		15 cubes	1200
ii)	Benches in warm-up room	Rent	For 4 days	4	1600
v)	Chairs in the FOP	Rent	For 4 days	100	12000
v)	Tables in the FOP	Rent	For 4 days	12	3600
)	TSR and IT requirements		A CONTRACTOR OF THE PARTY OF TH		
•	LED Wall (12x8 feet) with raiser for			g 1	
i)	scoreboard in competition hall	Rent	1 1	1	
	Plasma (55 inch) with iron stand - 1		1 1		
	scoreboard and 1 atttempt board in		1 1	5.5	
	warm-up room, 1 attempt board in		1 1		
i)	competition area	Rent	From local	3	
	LED Monitors (22 inch) with stand - 1		vendors at the		
	for speaker, 1 for loader, 1 for marshall,	SE 2200000	place of	4	
ii)	1 for Jury	Rent	competition	*	100000
	UPS (800va) for small power		(bills claim		
	fluctuations to be attached with TSR		will be as per	3	
v)	system module	Rent	actuals)		
	Various VGA cables, splitters and USB				
	adapters for video output at various	Rent		16	
v)	points	Kent	4,0		
46	P.A. System with 4 mikes and stands	Rent	1 1	1	
ri)	with 3 sound bars WIFI Internet Connection in FOP	Rent		i	
ii)	사람 중요하다 시간에 지어하다면 살 보면서 사내로 살아 있다면 하게 되어 있다. 이 사람들이 모르겠다면서	Kent			
3)	Printing & Stationery supplies	Purchase		150 nos	
i)	Athlete Bibs Athlete Pass	Purchase		150 nos	
ii)	51717 TOP ON 11 41511 W.	Purchase	1 1	450-500 nos	
ii)	Warm-up pass Safety pins	Purchase	1 1	3200 nos	
v)	XEROX Papers (A4 size)	Purchase		6 pkt	
v) ri)	Pens (Blue & Black)	Purchase		5 each	
ii)	Permanent Marker	Purchase	1	5 nos	
iii)	Files	Purchase		8 nos	
x)	Stapler and pins	Purchase	1 1	2 sets	
x)	Double punch hole machine	Purchase	To be	2 nos	
xi)	Cello Tape (1")	Purchase	procured	2 nos	

NOIDA

50000

25000

1020000

3910945

15643780

Khelo India National Women ranking Tournament -	Weightlifting Costing (4 days) -
Youth (Sub- Junior Wom	en)

		Contu (200- 201110)	I WOLLIGHT		• • • · · · · · · · · · · · · · · · · ·	
(xii)	Pencil Box	Purchase	locally (bills		1 no 3 nos	15000
(xiii)	Eraser & Sharpner	Purchase	claim will be		57-22-27	
(xiv)	Steel Ruler	Purchase	as per actuals)		1 no	
(var)	Scissor	Purchase			1 no	
(xv)	Rubber bands (Big Size)	Purchase	1 1		1 pkt	
(xvi)	Correction Fluid Pens	Purchase			3 nos	
(iivx)	Glue Stick	Purchase			2 nos	
(xviii)	Ladies Gown	Purchase			2 nos	
(xix)	All-in-one printer	Rent	1		1 no	
(xx)	Spare toners	Rent	1 1		3 nos	
(xxi)	Extension boards (5 points)	Purchase	1 1		2 nos	
(xxii)	Dustbins	Purchase			3 nos	
(xxiii)	Valedictory Ceremony items	品が利用を持ち合う				
(4)	Medals (30 consisting of 10 Gold, 10					100000
225	Silver & 10 Bronze)	Purchase			30 nos	8850
(i)	Best Lifter trophy	Purchase			1 no	885
(ii)	Winners Team Trophy	Purchase			1 no	2950
(iii)	Runners-up Team Trophy	Purchase			1 no	2360
(iv)	Branding of the FOP - banners	Purchase			5	50000
(5)		Services on rent			Entire event	10000
(i)	Photography / Videography	Purchase / Rent				10000
(ii)	Miscelleanous unforeseen			TOTAL (A)	C265 5566	370945
(6)	Technical Officials - competition - 4	days including first day	for verification	of final entries	meeting &	
(0)	technical officials meeting	53 (AT)				
	recumen ourcome	Honorarium	B&L	Days	TA	Total Cost
(3)	Referees / TOS	2500	2000	4	12000	900000
(i)	Competition Director	- 2500	2000	4	12000	30000
(ii)	Competition Director	500		3		15000

Cash Prize to be awarded to all 15 participants in each weight category - there are 10 body weight categories (7) in Youth Women

500

men	-					Total prize
n - 1		Youth			Wt. Cat.	money
Rank	4	50000			40 kg	252000
1	F.	. Sec. 107. 109. 100.			45 kg	252000
2		40000			49 kg	252000
3		30000			55 kg	252000
4		25000				252000
5		20000			59 kg	
6		15000	*		64 kg	252000
7	**	12000			71 kg	252000
		11000			76 kg	252000
. 9		10000	4		81 kg	252000
		9000			+81 kg	252000
10		8000			20 - 30	
11						
12		7000				
13		6000				
14		5000				
. 15		4000				
Total	*	252000				2520000
2014				TOTAL (C)		2520000

3

TOTAL (B)

GRAND TOTAL (A.+ B+C) COMPETITION FREQUENCY TO BE HELD ON QUARTERLY BASIS,

I.E. 4 TIMES A YEAR

Volunteers (including loaders)

Tea / snacks during competition

Medical staff expenses (Dope control)

(iii)

(iv)

(v)



# Khelo India National Women ranking Tournament - Weightlifting Costing (4 days) Junior Women

Requirements for running weightlifting competition

		item describition			
(1)	FOP equipments consisting of following	Item description purchase / rent	Remarks	Qty _	Amount
(1)	Weightlifting Indoor hall rent	Rent		ĭ	
(i)	weighthring moot han tent			50	
(ii)	Competition Platform (4x4 m) IWF Approved	Rent		1	
(11)	Competition Barbell sets (185 kg) IWF		1 1		
(iii)	Approved	Rent	1 1	2	
(iv)	Rosin Tray for stage	Rent		1	
	recom recome		To and fro		
(v)	Magnesium Tray for stage and warm-up room	Rent	transportation	6	
(.,	Warm-up platforms (2.5x2.5m) IWLF				150000
vi)	approved	Rent	of supplier	8	130000
*17	Women Warm-up barbell sets (185 kg) IWLF		(bills claim as		
vii)	approved	Rent	per actuals)	8	
,					
viii)	Training platforms (2.5x2.5m) IWLF approved	Rent	1	6	
,	Women training barbell sets (185 kg) IWLF		1		
ix)	approved	Rent	1	6	
,	Weigh-in Scale (upto 200 kg with precision of		1		91
(x)	50 gms)	Rent		3 [	
xi)	Magnesium powder	Purchase	100	1.5 kg	2500
xii)	Rosin	Purchase		15 cubes	1200
kiii)	Benches in warm-up room	Rent	For 4 days	4	1600
xiv)	Chairs in the FOP	Rent	For 4 days	100	12000
xv)	Tables in the FOP	Rent	For 4 days	12	3600
(2)	TSR and IT requirements			-	
(2)	LED Wall (12x8 feet) with raiser for				
(i)	scoreboard in competition hall	Rent		1	
(4)	Scorebourd in Compensation		1 1		
	Plasma (55 inch) with iron stand - 1 scoreboard		1 1		
	and I atttempt board in warm-up room, 1		1280 SON SON	Force	
(ii)	attempt board in competition area	Rent	From local	3	
11.7	attempt bound in compension with		vendors at the		
	LED Monitors (22 inch) with stand - 1 for		place of	S-20	17.0000000
iii)	speaker, 1 for loader, 1 for marshall, 1 for Jury	Rent	competition	4	100000
ш	UPS (800va) for small power fluctuations to be		(bills claim	50.00	
(iv)	attached with TSR system module	Rent	will be as per	3	
(14)	anaches with 1010 sjacon mosas		actuals)		
	Various VGA cables, splitters and USB		954703000300	0202	
(4)	adapters for video output at various points	Rent		16	
(v)	P.A. System with 4 mikes and stands with 3	96862/575/S	*	2.4	
(wil	sound bars	Rent	1 1	1	
(vi) (vii)	WIFI Internet Connection in FOP	Rent	9	1	
	Printing & Stationery supplies	mandib.			
(3)	Athlete Bibs	Purchase		150 nos	
(i)	Athlete Pass	Purchase	1 1	150 nos	
(ii)	Warm-up pass	Purchase	1 1	450-500 nos	
(iii)	[[[[ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [ [	Purchase		3200 nos	
(iv)	Safety pins XEROX Papers (A4 size)	Purchase		6 pkt	
(v)	Pens (Blue & Black)	Purchase		5 each	
(vi)	Permanent Marker	Purchase		5 nos	
(vii)	: 10 10 10 10 10 10 10 10 10 10 10 10 10	Purchase		8 nos	
viii)	Files	Purchase	>-1.	2 sets	
(ix)	Stapler and pins	Purchase	7/244 2.4933	2 nos	
(x)	Double punch hole machine	Purchase	To be	2 nos	
(xi)	Cello Tape (1")	Purchase	procured		15000
(xii)	Pencil Box	Purchase	locally (bills	atlifting 3 nos	13000
(xiii)	Eraser & Sharpner	Purchase	claim will be	MANUAL AND	
	Steel Ruler	ruichase	se ner actuale)	NOIDA O NOIDA	
(xiv)				NOIDA ) AU	

Khelo India National	Women ranking Tournament - Weightlifting Costing (4 days) -	
	Ii Woman	

(xv) (xvi) (xvii) (xviii) (xix) (xxi) (xxii) (xxiii)	Scissor Rubber bands (Big Size) Correction Fluid Pens Glue Stick Ladies Gown All-in-one printer Spare toners Extension boards (5 points) Dustbins		Purchase Purchase Purchase Purchase Purchase Rent Rent Purchase Purchase			1 no 1 pkt 3 nos 2 nos 2 nos 1 no 3 nos 2 nos 3 nos	
(4) (i) (ii) (iii) (iv) (5) (i) (ii)	Valedictory Ceremony items Medals (30 consisting of 10 Gold, 1 10 Bronze) Best Lifter trophy Winners Team Trophy Runners-up Team Trophy Branding of the FOP - banners Photography / Videography Miscelleanous unforeseen		Purchase Purchase Purchase Purchase Purchase Services on rent Purchase / Rent		TOTAL (A)	30 nos 1 no 1 no 1 no 5 Entire event	8850 885 2950 2360 50000 10000 10000 370945
(i) (ii) (iii) (iv)	Technical Officials - competition technical officials meeting  Referees / TOS Competition Director Volunteers (including loaders) Tea / snacks during competition		Honorarium 2500 2500 500	B&L 2000 2000	Days 4 4 3 4 3	TA 12000 12000	Total Cost 900000 30000 15000 50000 25000
(v)	Medical staff expenses (Dope cont	rol)			TOTAL (B)		10200

(7) Cash Prize to be awarded to all 15 participants in each weight category - there are 10 body weight categories in Junior Women

п				Total prize
		Junior	Wt. Cat.	money
	Rank	100000	45 kg	504000
	1		49 kg	504000
	2	80000	55 kg	504000
	3 /	60000	59 kg	504000
	4	50000		504000
	5	40000	64 kg	
		30000	71 kg	504000
		24000	76 kg	504000
	7	22000	81 kg	504000
	8		87 kg	504000
	9	20000	+87 kg	504000
	10	18000		
	11	16000		40
	12	14000		
	13	12000		
		10000		
	14	8000		
	15	504000		
	Total	304000	TOTAL (C)	5040000
		CD AND TO	TAL (A + B + C)	6430945
		GRANDIO	11AL(A . D . C)	

GRAND TOTAL (A + B + C)
COMPETITION FREQUENCY TO BE HELD ON QUARTERLY BASIS,

I.E. 4 TIMES A YEAR

NOIDA Redention y Legipul \*

25723780

# Khelo India National Women ranking Tournament - Weightlifting Costing (4 days) Senior Women

Requirements for running weightlifting competition

	Requirements for running weightlifting cor				
	non '	Item description purchase / rent	Remarks	Qty _	Amount
(1)	FOP equipments consisting of following	Rent	Remarks	ı̈́Γ	
(i)	Weightlifting Indoor hall rent	Kent			
	Competition Platform (4x4 m) IWF	Rent	1 1	1	
(ii)	Approved	Kent		251	
****	Competition Barbell sets (185 kg) IWF	Rent		2	
(iii)	Approved		1 1	ī	
(iv)	Rosin Tray for stage	Rent	1 1	•	
	Magnesium Tray for stage and warm-up	D	To and fro	6	
(v)	room	Rent	transportation		90.00
	Warm-up platforms (2.5x2.5m) IWLF		of supplier	8	150000
(vi)	approved	Rent	(bills claim as	<b>a</b>	
	Women Warm-up barbell sets (185 kg)		per actuals)	8	
(vii)	IWLF approved	Rent		•	
	Training platforms (2.5x2.5m) IWLF	920 0	1 1	6	
(viii)	approved	Rent	1 1	0	
	Women training barbell sets (185 kg)	898 W 17	1 1	3.28	
(ix)	IWLF approved	Rent	1 1	6	
	Weigh-in Scale (upto 200 kg with				
(x)	precision of 50 gms)	Rent		3 L	2500
(xi)	Magnesium powder	Purchase		1.5 kg	2500
(xii)	Rosin	Purchase		15 cubes	1200
(xiii)		Rent	For 4 days	4	1600
(xiv)		Rent	For 4 days	100	12000
(xv)	Tables in the FOP	Rent	For 4 days	12	3600
(2)	TSR and IT requirements				
<b>'-</b> /	LED Wall (12x8 feet) with raiser for			25	
(i)	scoreboard in competition hall	Rent	1 1	1	
(1)	Plasma (55 inch) with iron stand - 1				
	scoreboard and 1 attempt board in warm-				
	up room, 1 attempt board in competition		1 1		
CHA.	area	Rent	From Incel	3	
(ii)	LED Monitors (22 inch) with stand - 1 for		From local		
	speaker, I for loader, I for marshall, I for		vendors at the		
e1113	100 C C C C C C C C C C C C C C C C C C	Rent	place of	4	100000
(iii)	Jury		competition		100000
	UPS (800va) for small power fluctuations		(bills claim		
	UPS (800va) for small power fluctuations	Rent	will be as per	3	
(iv)	to be attached with TSR system module	rem	actuals)		
	TO THE PARTY OF TH		1 1		
	Various VGA cables, splitters and USB	Rent		16	
(v)	adapters for video output at various points	Kent			
	P.A. System with 4 mikes and stands with	Rent		1	
(vi)	3 sound bars		i, o	ī	
(vii)	WIFI Internet Connection in FOP	Rent		2 4 4	
(3)	Printing & Stationery supplies	Durch		150 nos	
(i)	Athlete Bibs	Purchase		150 nos	
(ii)	Athlete Pass	Purchase		450-500 nos	
(iii)	Warm-up pass	Purchase		3200 nos	
(iv)	Safety pins	Purchase		6 pkt	
(v)	XEROX Papers (A4 size)	Purchase		5 each	
(vi)	Pens (Blue & Black)	Purchase		5 each	
(vii)	Permanent Marker	Purchase			
(viii)		Purchase		8 nos	
(ix)		Purchase		2 sets	1.55
(x)	Double punch hole machine	Purchase	To be	2 nos	
(xi)	인가 [1] (1) (1) (1) (1) (1) (1) (1) (1) (1) (1)	Purchase	procured	2 nos	
(xii)	4 No. (1971) - 1971 - 1971 - 1971 - 1971 - 1971 - 1971 - 1971 - 1971 - 1971 - 1971 - 1971 - 1971 - 1971 - 1971	Purchase	locally (bills	1 no	15000
(xiii)		Purchase	claim will be	1 no 3 nos	3 marin 250 //
(AIII)	e companiente de la companie ACTORIO (C			The second	
				NOIDA SA MU	
* 1				115/ 13/	

10000

10000

370945

Total aring

8950945

35803780

Entire event

TOTAL (A)

#### Khelo India National Women ranking Tournament - Weightlifting Costing (4 days) -

		Senior Wo	men		
(xiv) (xv) (xvi) (xviii) (xix) (xx) (xxi) (xxii)		Purchase Purchase Purchase Purchase Purchase Purchase Purchase Rent Rent Purchase	as per actuals)	1 no 1 no 1 pkt 3 nos 2 nos 2 nos 1 no 3 nos 2 nos	5
	Dustbins	Purchase		3 nos	
(4)	<u>Valedictory Ceremony items</u> Medals (30 consisting of 10 Gold, 10	Purchase	A <del></del>	30 nos	8850
(i)	Silver & 10 Bronze)	Purchase		1 no	885
(ii)	Best Lifter trophy	Purchase		1 no	2950
(iii)	Winners Team Trophy Runners-up Team Trophy	Purchase		1 no	2360
(iv) (5)	Branding of the FOP - banners	Purchase		5 Entire event	50000 10000

Technical Officials - competition - 4 days including first day for verification of final entries meeting & technical officials meeting

Services on rent

Purchase / Rent

Photography / Videography

Miscelleanous unforeseen

(ii)

(i) (ii)	Referees / TOS - 30 nos Competition Director - 1 no	2500 2500	2000 2000	Days 4 4	12000 12000	900000 30000 15000
(iii)	Volunteers (including loaders) - Tea / snacks during competition	500		4		50000
(iv) (v)	Medical staff expenses (Dope control)			3 TOTAL (B)		25000 1020000

(7) Cash Prize to be awarded to all 15 participants in each weight category - there are 10 body weight categories in Senior Women

						Total prize
Rank		Senior			Wt. Cat.	money
Kank		150000			45 kg	756000
1	X.	120000			49 kg	756000
2	4				55 kg	756000
	50,0	- 90000			59 kg	756000
4	*-	75000			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	756000
5		60000			64 kg	
6		45000		•	71 kg	756000
7		36000			76 kg	756000
		33000			81 kg	756000
8 9					87 kg	756000
9	*	30000			+87 kg	756000
10		27000	40		TO/ Kg	150000
- 11	27	24000				
12		21000				
13		18000				
		15000				
14 15		12000				
Total		756000				
'a TOTAL				TOTAL (C)		7560000

GRAND TOTAL (A + B + C) COMPETITION FREQUENCY TO BE HELD ON QUARTERLY BASIS,

I.E. 4 TIMES A YEAR

## PHASE 1: BUDGET FOR KHELO INDIA WOMEN'S HOCKEY LEAGUE (UNDER - 16) Venue: Major Dhyan Chand National Stadium, New Delhi (8 days)

S.No.	Item	Quantity	Price (INR)	Total (INR)	Remarks
1	Corner Flags with Poles and Base	5	2,500	12,500.00	nemans
2	Stop Watches	3	250	750.00	
3	Whistle	<u></u>	800	800.00	
4	Captain's Arm Band (Each)	6	200	1,200.00	6 (2 of each color Blue/Yellow/White)
5	60% Alcohol Solution/ Disinfectant (Per Pack)	<u></u>	75	75.00	1 litres
6	Hand Held Scrubbing Brush		80	80.00	265
7	Stationary Items including hiring Computer/ Laptop with Printer and USB	1	20,000	20,000.00	2 printers, basic stationery items
8	Internet Connection/ Dongal/ Wi Fi	2	1,000	2.000.00	ļ
9	Match Balls Kookaburra	24	2,000	48,000.00	
10	Face Mask (Each)	10	1,800	18,000.00	
11	Marketing & Promotion	1	1,50,000	1,50,000.00	1 Venue
12	Local Transportation for Officials	2 innovas	1,500	24,000.00	2 Innova cars for 8 days
13	Volunteers remuneration	140	250	35,000.00	20 volunteers/ 7 days
14	Refreshments for Volunteers	140	250	35,000.00	20 volunteers/ 7 days
15	Drinking Water for Teams	26 X 20 litres Jar for 7 days	80	14,560.00	26 X 20 litres Jar for 7 days
16	DA for Competition Manager	9	1,200	10,800.00	(1X 9 Days)
17	DA for Technical Delegate	9	1,400	12,600.00	(1X 9 Days)
18	DA for Umpire Manager	9	1,400	12,600.00	(1X 9 Days)
19	DA for Technical Officials and Umpires	162	800	1,29,600.00	(12 Umpire, 6 TOs x 9 Days)
20	Travel Allowance for Technical Officials	20	6,100	1,22,000.00	20 Official
21	Travel Allowance for Competition Manager	1	6,100	6,100.00	
22	Branding Cost	1	2,00,000	2,00,000.00	1 Venue
23	ost of Uniform (Competition Manager, Officials & Volunteers includes 2 T-shirts each + 1 Upper	41 pax	NA	60,000.00	
24	Scoreboard	1	2,50,000	2,50,000.00	digital scoreboard
25	Accommodation Cost for Competition Manager	1 room for 9 days	2,000	18,000.00	
26	Accommodation Cost for Technical Officials	10 rooms/ twin sharing for 9 days	2,000	1,80,000.00	
	Total Cost for Phase 1 (Rs.)		13,63,665.00		

## PHASE 2: BUDGET FOR KHELO INDIA WOMEN'S HOCKEY LEAGUE (UNDER - 16) Venue: Padma Shri Mohammad Shahid Synthetic Hockey Stadium, Lucknow, Uttar Pradesh (8 days)

S.No.	ltem	Quantity	Price (INR)	Total (INR)	Remarks
1	60% Alcohol Solution/ Disinfectant (Per Pack)	1	75	75.00	
2	Stationary Items including hiring Computer/ Laptop with Printer and USB	1	20,000	20,000.00	2 printers, basic stationery items
3	Internet Connection/ Dongal/ Wi Fi	2	1,000	2,000.00	
4	PC Face Masks	5	1,800	9,000.00	PC Face masks from Phase 1 will also be used
5	Local Transportation for Officials	2 innovas	1,500	24,000.00	2 Innova cars for 8 days
6	Volunteers remuneration	140	250	35,000.00	20 volunteers/ 7 days
7	Refreshments for Volunteers	140	250	35,000.00	20 volunteers/ 7 days
8	Drinking Water for Teams	26 X 20 litres Jar for 7 days	80	14,560.00	26 X 20 litres Jar for 7 days
9	DA for Competition Manager	9	1,200	10,800.00	(1X 9 Days)
10	DA for Technical Delegate	9	1,400	12,600.00	(1X 9 Days)
11	DA for Umpire Manager	9	1,400	12,600.00	(1X 9 Days)
12	DA for Technical Officials and Umpires	162	800	1,29,600.00	(12 Umpire, 6 TOs x 9 Days)
13	Travel Allowance for Competition Manager	1	6,100	6,100.00	
14	Travel Allowance for Technical Officials	20	6,100	1,22,000.00	20 Official
15	Branding Cost	1	2,00,000	2,00,000.00	1 Venue
16	Cost of Uniform (Competition Manager, Officials & Volunteers includes 2 T-shirts each + 1 Upper)	41 pax	NA	60,000.00	
17	Scoreboard	1	2,50,000	2,50,000.00	digital scoreboard
18	Accommodation Cost for Competition Manager	1 room for 9 days	2,000	18,000.00	
19	Accommodation Cost for Technical Officials	10 rooms/ twin sharing for 9 days	2,000	1,80,000.00	
	Total Cost for Phase 2 (Rs.)				

#### FINALS: BUDGET FOR KHELO INDIA WOMEN'S HOCKEY LEAGUE (UNDER - 16)

Venue: Kalinga Stadium, Bhubaneswar, Odisha (9 days)

S.No.	ltem	Quantity	Price (INR)	Total (INR)	Remarks
1	60% Alcohol Solution/ Disinfectant (Per Pack)	1	75	75.00	
2	Stationary Items including hiring Computer/ Laptop with Printer and USB	1	20,000	20,000	2 printers, basic stationery items
3	Internet Connection/ Dongal/ Wi Fi	2	1,000	2,000.00	
4	Match Balls Kookaburra	12	2,000	24,000.00	Balls from Phase 1 will also be used
5	Local Transportation for Officials	2 Innova cars for 9 days	1,500	27,000.00	2 Innova cars for 9 days
6	Volunteers remuneration	100	250	25,000.00	20 volunteers/ 5 days
7	Refreshments for Volunteers	100	250	25,000.00	20 volunteers/ 5 days
8	Drinking Water for Teams	26 X 20 litres Jar for 5 days	80	10,400.00	26 X 20 litres Jar for 5 days
9	DA for Competition Manager	10	1,200	12,000.00	(1X 9 Days)
10	DA for Technical Delegate	10	1,400	14,000.00	(1X 9 Days)
11	DA for Umpire Manager	10	1,400	14,000.00	(1X 9 Days)
12	DA for Technical Officials and Umpires	162	800	1,29,600.00	(12 Umpire, 6 TOs x 8 Days)
13	Travel Allowance for Competition Manager	1	6,100	6,100.00	
14	Travel Allowance for Technical Officials	20	6,100	1,22,000.00	20 Official
15	Branding Cost	1	3,00,000	3,00,000.00	1 Venue
16	Cost of Uniform (Competition Manager, Officials & Volunteers includes 2 T-shirts each + 1 Upper)	41 pax	NA	60,000.00	
17	Scoreboard	1	2,50,000	2,50,000.00	digital scoreboard
18	Accommodation Cost for Competition Manager	1 room for 10 days	2,000	20,000.00	
19	Accommodation Cost for Technical Officials	10 rooms/ twin sharing for 10 days	2,000	2,00,000.00	
20	Cost of Certificates (16 teams x 20 pax)	16 teams X 20 pax each team	10	3,200.00	
21	Cost of Medals & Certificates 3 teams x 20 pax)	3 Trophies & 60 Medals	NA	3,20,000.00	
	Total Cost for FINALS (Rs.)				